



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{3}{2}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{2}{5}\right) \times \frac{2}{5} - \left(\frac{1}{3} - \frac{1}{6}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{3}{4} + \left(\frac{3}{2}\right)^2\right) =$$

$$\left(4 + \frac{1}{3}\right)^2 + \frac{1}{3} + \frac{1}{6} - 4^2 =$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{2}{5} + \frac{1}{2} - 4^2 =$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{2} - \frac{2}{3}\right) =$$

$$\left(\frac{2}{5} - \left(\frac{1}{3}\right)^2\right) \times \frac{2}{5} - \left(\frac{3}{2} - \frac{1}{3}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{5} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{4} + \frac{3}{2}\right)^2 =$$



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{3}{2}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) = \frac{227}{200} = 1\frac{27}{200}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \frac{25}{18} = 1\frac{7}{18}$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{2}{5}\right) \times \frac{2}{5} - \left(\frac{1}{3} - \frac{1}{6}\right)^2 = \frac{667}{4500}$$

$$\left(\frac{2}{5} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{3}{4} + \left(\frac{3}{2}\right)^2\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(4 + \frac{1}{3}\right)^2 + \frac{1}{3} + \frac{1}{6} - 4^2 = \frac{59}{18} = 3\frac{5}{18}$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{2}{5} + \frac{1}{2} - 4^2 = \left(-\frac{273}{20}\right) = \left(-13\frac{13}{20}\right)$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{2} - \frac{2}{3}\right) = \frac{10}{9} = 1\frac{1}{9}$$

$$\left(\frac{2}{5} - \left(\frac{1}{3}\right)^2\right) \times \frac{2}{5} - \left(\frac{3}{2} - \frac{1}{3}\right)^2 = \left(-\frac{1121}{900}\right) = \left(-1\frac{221}{900}\right)$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{3}{4}\right)^2 = \frac{211}{144} = 1\frac{67}{144}$$

$$\left(\frac{1}{5} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{4} + \frac{3}{2}\right)^2 = \left(-\frac{3611}{1200}\right) = \left(-3\frac{11}{1200}\right)$$